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Question 1

The simplhification of the expression

grves
m 12
2] 4%
Bl 1
[4 28

[6] none of the above

Question 2

If z = 4, the value of the sum

3
> (5 + \/:_c—‘)
1=0
1%
(1] 35
2 34
8] 15
4] 14
[6] none of the above
Question 3
Sunplifying the expression
87 x gz
23T 3¢ 45+2°

one obtains

1

0 &

{2] 24(:5— 1)

{3] 27:1:—4
1

U

[5] none of the above
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Question 4

Solve for T in the following equation

1]
2]

13]
14]
(5]

3r—2 1 1-52z
4 432

£=0]10

L =26

9

T

7

T

none of the above

Question 5

John buys 168 mangos for R354,00 and sells all the mangos for R35,00 per dozen The percentage praofit,
rounded to two decimal places, that he makes 15

[
|

b

.h_-.a

|

{
I3
{
[5}

)

66,10%
i8,64%
38,42%
6,02%

none of the above

Question 6

A test 18 admunistered with ten long questions Students are allowed to answer any four of the ten
questions The number of choices of the four questions 1s

1]
2]
[3]
(4]
[5]

210
5040
34
151200

none of the above

Question 7

A piece of timber 15 360 cm long and 1t 15 cut into three pleces A, B and C wn the ratiw of 4 6 2 The
length of each of the three pieces 15

[1]
(2]
3l
(4]
(5]

A=120cm, B=18)cm and C = 60cmn
A =60cm, B = 180cm and C = 120cm
A=80em, B=120cm and C = 40cm
A=240cm, B=360cm and C = 120cm

none of the above
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Question 8

The Legae company rents out three houses It charges rent of R2 500 more pet month for the second
house than for the first The third house 1s 1ented out for 85% of the rent of the second house, but was
vacant for two months for renovations The yeaily 1ent for all three houses 15 R400372 If A, 3 and C
are the monthly rents of the first, the second and the third houses respectively, then

(1]  A=R10865,59, B=R13363,59 and C=R11 360,75
[2] A=R9405,17, B=R11905,17 and C=R13690,94

(3] A=R13880,68, B=R16380,68 and C=R13923,59
(4] A=R10742,22, B=R13242,22 and C=R11 255,88

[5]  none of the ahove

Question 9
The slope of the line y = ax + b passing through the pomts (%, %) and (2, %) 18

15
[1] a= I

18
2 a= 5
. 5
Bl e=3
M a=175

[5] none of the above

Question 10

Consider the system of equations
3r -2y = 4
2r — y=-3

When using substitution to solve this system of equations, the result of substituting the r-value of the
second equation mto the a-value of the first equation 15

] —-y+9=28

2] -9-y=8
B3 -Ty-17=0
4 y=17

5] none of the above
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Question 11

Find r if
Vir+3-2=3
ny r=-05
21 r=55
B r=018
4 r=7
[5]  none of the above
Question 12
The solution to the mequality
2 — b6z
-2 <
- 8

15)

>3
7
.'LSE
1
:L'Sg
T <3

notie of the above

Question 13

Tebogo has R420 to spend at the amusement park It will cost lum R26 for entrance to the park, R23
per tide and R40 to play some gammes Which mnequahty represents the number of possible rides r and
games g, that Tebogo can nide and play?

1

— e e o
L A

£

23r + 40g > 394
40r + 23z < 394
23r 4 40g < 394
23r + 40g < 420

none of the above
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Question 14
The quadratic function
Yy~ 6=3[(z-2)(z-1)

can be rewritten 1n the form y = az? + be + ¢, where the values of the constants a, b, and ¢ are identified
as follows

i} e=3,b=-9ande=0

2] e=3,b=-5andc=12

B a=3b=-%andc=12

4 a=3b=3andc=-6

[5] none of the above

Question 15

The turming point of the quadratic function

y=2z+3z -4

1 (@) =(3-3)
2 (z.y)=(3,8)

B (@ =(-%-5%)
4 (ry) =(-%-45)

[3]  noue of the above

Question 16

The denvative of the function
fley=6a% —1227% + 47 - 6
15
(1| f(z) = 1822 + 6z3 + 24z~3
2l f(z) =182 + 623 + 24z !
3] f'(z) =36z +3:71 — T2z~
[4) fi(z) =622 +4dr2 — 12073 -6

i5] none of the above
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Question 17
The total cost (m rand} to manufacture = watches 1 given by the function

2

C{z) = 1000 4+ 100z — %

The marginal cost to manufactuie the 31t watch 1

(1] R84,50
(2] R85,00
(3] R200,00

[4 R1185,00

(5] none of the above

Questions 18 and 19 are based on the following information
Model Traders waenis to construct wnderes of the prices and quanhities of s two products The prices
and quantities sold wmn the years 2018 and 2015 are shoun wn the followiny lable

Prices (1n R) | Quantities sold

Product | 2013 2015 | 2013 2015
A 50 60 11300 1600
B 40 46 1600 2100

Question 18
The Laspeyres price index for 2015 using 2013 as the year base 15

(1] 85,09
[2] 117,52
(3] 117,44
[4 85,15

[5) uone of the above

Question 19

The Paasche price index for 2015 using 2013 as the year base s

1] 117,52
2] 1,18
3 0,85
4] 117,44

(5] none of the above
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Question 20
Alexander Industries has just had a very profitable year The owner has decided to mvest R225000 of

the profits for fifteen years in a venture that pays Y% simple interest per year How much more would
the tnvestment be worth 1f the owner could have 1eceived 10% sumple interest per year?

(1 R138a7216

[2] R258750 00

3] R33750,00

[4] R120322,28

[3/ none of the above

Questions 21 and 22 are based on the following information:
Robert buys a new car that costs R2{0000 He made a down payment of R100 000 and obtained a
five-year loan for the balance at an interest rate of 8,5% per annum, compounded monthly

Question 21
What 15 the monthly payment of the loan’

(1] R4923,30
(2] R2051,58
[3] R2872,32
4] R35528,20

5]  none of the above

Question 22

The outstanding principal at the beginning of the second year, rounded to the nearest rand, 1s

[1]  R199761
[2] R116527
[3]  R152375
[1] R83233

[5] none of the above

Question 23

Thandi signs an agreement to pay R20000 fifteen months from now The simple discount rate » 12,5%
per annum  The discounted amount she receives now equals

(1]  R23703,70
[2]  R23125,00
3]  RI17297,30
[4] R16875,00

[5]  none of the above
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Question 24

Mmapule takes out a five-year loan to buy a truck The loan 18 financed at 13% interest per yea
compounded monthly, and her monthly payments are R3412 96 She also adds R25000 for a deposit
The price of the truck, 1ounded to the nearest 1and, 15

(1]  R175000,00
[2] R286328,00
(3] R229778,00
[4) R197721,00
[5] R179778,00

Question 25

A businessman wants to invest the same sum of money at the end ol each quarter for five years The
investment will earn 8,5% nterest per yedr, compounded quarterly In order to have accumulated a
total of R30000 at the end of five years, the required quarterly investments will be

1] R1401,72
2] R2518,55
[3] R1856,91
[4] R121941

[3] none of the above

Question 26

Samn nvested RE 800 at 12% interest per year, compounded monthly The number of months he has to
wart for this sum to grow up to R9 165,37, rounded to integers, 1s

1 30
[2] 32
(3] 29
4] 35

[5] none of the above
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Questions 27,28, 29 and 30 are based on the following information:
The wncomes (in rand) of eleven tax drwers during the week are

1080, 2000, 1580, 15340, 2500, 1800, 1580, 3000, 3280, 2930, 3120

Question 27

The average income 1s

1]
[2]
3l
[4]
[5}

2219,09
2200,00
1080,00
2441,00

none of the above

Question 28

The mode of the incomes 15

1]
[2}
[3]
(4]
(5l

1080
2441
3280
1580

none of the above

Question 29

The standard deviation of the incomes 15

il
2]
13]
[4]
(5]

796,48
770,10
25,92

671,74

none of the above

Question 30

The quartile deviation of the incomes 18

[1]
(2]
&)
[4]
[5]

2000
1500
710

1420

none of the above
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I=PRT

§ = P(1 + RT)

)
" {1+ RT)

P=S$(1-dT)

S:R[————(l“)"*l}

P=Raﬁl
_ (L4} —1
P—R[ il - )
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FORMULAS

y=ar+b

b
Em = ——

2a

_ -0
Ty — ¥y

y=azr’+bz+c

b, Vb —dac
= ~%a + —
(Som) 1 <

I, = % x 100

Z %z:z:: X

st = %i:i:;
- S

QD:Q3;Q1

m!

O = T oy

It f(x)=az", then f'(z)=ans!
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